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MEMORANDUM AND ORDER
~ (petition.er) petitions for regrading his answers to questions 8 and 24
of the morning section and question 22 of the afternoon section of the Registration
Examination held on April 17, 2002. The petition is denied to the extent petitioner seeks

a passing grade on the Registration Examination.

BACKGROUND

An applicant for registration to practice before the United States Patent and
Trademark Office (USPTO) in patent cases must achieve a passing grade of 70 in both
the morning and afternoon sections of the Registration Examination. Petitioner scored
68. On Aﬁgust 9, 2002, petitioner requested regrading, arguing that the model answers

were incorrect.
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As indicated in the instructions for requesting regrading of the Examination, in

order to expedite a petitioner's appeal rights, a single final agency decision will be made

regarding each request for regrade. The decision will be reviewable under

35 U.S.C. § 32. The Director of the USPTO, pursuant to 35 U.S.C. § 2(b)(2)(D) and

37 CFR 10.2 and 10.7, has delegated the authority to decide requests for regrade to the

Director of Patent Legal Administration.

OPINION

Under 37 CFR 10.7(c), petitioner must establish any errors that occurred in the
grading of the Examination. The directions state: " No points will be anded for
incorrect answers or unanswered questions." The burden is on petitioners to show that
their chosen answers are the most correct answers.

The directions to the morning and afternoon sections state in part:

Do not assume any additional facts not presented in the questions. When
answering each question, unless otherwise stated, assume that you are a registered patent
practitioner. The most correct answer is the policy, practice, and procedure which must,
shall, or should be followed in accordance with the U.S. patent statutes, the USPTO rules
of practice and procedure, the Manual of Patent Examining Procedure (MPEP), and the
Patent Cooperation Treaty (PCT) articles and rules, unless modified by a court decision, a
notice in the Official Gazette, or a notice in the Federal Register. There is only one most
correct answer for each question. Where choices (A) through (D) are correct and choice
(E) is “All of the above,” the last choice (E) will be the most correct answer and the only

answer which will be accepted. Where two or more choices are correct, the most correct
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answer is the answer that refers to each and every one of the correct choices. Where a
question includes a statement with one or more blanks or ends with a colon, select the
answer from the choices given to complete the statement which would make the
statement true. Unless otherwise explicitly stated, all references to patents or applications
are to be understood as being U.S. patents or regular (non-provisional) utility applications.
for utility inventions only, as opposed to plant or design applications for plant and design
inventions. Where the terms “USPTO” or “Office” are used in this examination, they
mean the United States Patent and Trademark Office.

Petitioner has presented various arguments attacking the validity of the model
answers. All of petitioner's arguments have been fully considered. Each question in the
Examination is worth one point.

No credit has been awarded for moming questions 8 and 24 and afternoon

question 22. Petitioner's arguments for these questions are addressed individually below.
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Morning question 8 reads as follows:

8. On March 20, 2000, Patsy Practitioner filed a patent application on widget Y for the
ABC Company based on a patent application filed in Germany for which benefit of
priority was claimed. The sole inventor of widget Y is Clark. On September 13, 2000,
Patsy received a first Office action on the merits rejecting all the claims of widget Y
under 35 U.S.C. § 103(a) as being obvious over Jones in view of Smith. When reviewing
the Jones reference, Patsy notices that the assignee is the ABC Company, that the Jones
patent application was filed on April 3, 1999, and that the Jones patent was granted on
January 24, 2000. Jones does not claim the same patentable invention as Clark’s patent
application on widget Y. Patsy wants to overcome the rejection without amending the
claims. Which of the following replies. independently of the other replies would not be in
accordance with proper USPTO practice and procedures?

(A) A reply traversing the rejection by correctly arguing that Jones in view of Smith fails
to teach widget Y as claimed, and specifically and correctly pointing out claimed
elements that the combination lacks.

(B) A reply traversing the rejection by relying on an affidavit or declaration under 37
CFR 1.131 that antedates the Jones reference.

(C) A reply traversing the rejection by relying on an affidavit or declaration under 37
CFR 1.132 containing evidence of criticality or unexpected results.

(D) A reply traversing the rejection by stating that the invention of widget Y and the
Jones patent were commonly owned by ABC Company at the time of the invention of
widget Y, and therefore, Jones is disqualified as a reference via 35 U.S.C. § 103(c).

(E) A reply traversing the rejection by perfecting a claim of priority to Clark’s German
application, filed March 21, 1999, disclosing widget Y under 35 U.S.C. § 119(a)-(d).

8. The model answer: The correct answer is (D). The prior art exception in 35 U.S.C. §
103(c) only applies to references that are only prior art under 35 U.S.C. § 102(e), (f), or
(2). In this situation, the Jones patent qualifies as prior art under § 102(a) because it was
issued prior to the filing of the Clark application. See MPEP § 706.02(1)(3). Adse;

Answer (A) is a proper reply in that it addresses the examiner’s rejection by specifically
pointing out why the examiner failed to make a prima facie showing of obviousness. See
37 C.F.R. § 1.111. Answer (B) is a proper reply. See MPEP § 715. Answer (C) is a
proper reply. See MPEP § 716. Answer (E) is a proper reply because perfecting a claim
of priority to an earlier filed German application disqualifies the Jones reference as prior

art.

Petitioner argues that answer (B) is also correct. Petitioner contends that the fact pattern
fails to provide the date for which the Smith reference is available as prior art and, absent
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an unwarranted assumption, the Smith reference may not have been antedated by the
affidavit, making selection (D) not in accord and therefore an equally correct response.

Petitioner’s arguments have been fully considered but are not persuasive.
Contrary to petitioner’s statement that the fact pattern fails to provide the date for which
the Smith reference is available as prior art and, absent an unwarranted assumption, the
Smith reference may not have been antedated by the affidavit, making selection (D) not
in accord and therefore an equally correct response, it would be sufficient to negate the
Jones reference as prior art without negating the Smith reference to overcome the
rejection. A rejection under 35 USC 103 requires all the elements in the claims to be
found in the prior art. Negating the application of art to some elements overcomes the
rejection as to those elements. Therefore, selection (B) is in accord and therefore an
incorrect response. Accordingly, model answer (D) is correct and petitioner’s answer (B)
is incorrect.

No error in grading has been shown. Petitioner’s request for credit on this
question is denied.

Morning question 24 reads as follows:

24. Mr. Brick, the inventor, files an application with the USPTO on January 2, 2001
containing a single claim for his invention: a new bouncing ball called “Y”. Brick
receives a first Office action dated June 4, 2001 from the primary examiner handling
Brick’s application. The examiner rejected Brick’s claim only under 35 U.S.C. § 103 on
the grounds that Reference X teaches a bouncing ball called “Q,” and that although “Y”
and “Q” are not the same, it would have been obvious to one of ordinary skill to make
changes to the “Q” ball in order to obtain a ball just like Brick’s “Y” ball. On August 2,
2001, Brick responds by stating that his new “Y” ball bounces unexpectedly higher than
the “Q” ball described in Reference X. Brick includes a declaration, signed by Mrs. Kane,
that includes extensive data comparing the bouncing results for the “Y” and “Q” balls and
showing that the “Y” ball bounces unexpectedly higher than the “Q” ball. Brick argues
that the rejection under 35 U.S.C. § 103 should be withdrawn because he has proven that,
in view of the unexpectedly higher bounce of the “Y” ball as compared to the “Q” ball, it
would not have been obvious to one of ordinary skill in the art to make changes to the
“Q” ball to obtain Brick’s “Y” ball. On October 2, 2001, Brick receives a final rejection
from the examiner. The rejection states, in its entirety: “The response has been reviewed
but has not been found persuasive as to error in the rejection. The claim is finally rejected
under 35 U.S.C. § 103 for the reasons given in the first Office action.” Brick believes he
is entitled to a patent to his new bouncing ball “Y.” How should Brick proceed?

(A) Brick should give up because the declaration did not persuade the examiner of the
merits of Brick’s invention.
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(B) Brick should timely file a Request for Reconsideration asking the examiner to
reconsider the rejection on the basis of the Kane declaration and, as a precaution against
the Request for Reconsideration being unsuccessful, also timely file a Notice of Appeal.

(C) Brick should respond by submitting a request for reconsideration presenting an
argument that Reference X does not provide an enabling disclosure for a new ball with
the unexpectedly higher bounce of his “Y” ball.

(D) Brick should respond by submitting a request for reconsideration presenting an
argument that Reference X does not provide a written description for a new ball with the
unexpectedly higher bounce of his “Y” ball.

(E) Brick should respond by submitting a request for reconsideration presenting an
argument the declaration data proves that the “Q” ball and the “Y” are not identical.

24. The model answer: (B) is the correct answer. It is inappropriate and injudicious to
disregard any admissible evidence in any judicial proceeding. Stratoflex, Inc. v. Aeroquip
Corp., 713 F.2d 1530, 218 USPQ 871 (Fed. Cir. 1983). The examiner has not analyzed
the data in the declaration nor provided an explanation as to why the declaration did not
overcome the rejection. Furthermore, the rejection has not been reviewed anew in light of
the declaration. The examiner should have reweighed the entire merits of the prima facie
case of obviousness in light of the data. In re Hedges, 783 F.2d 1038, 1039, 228 USPQ
685, 686 (Fed. Cir. 1986). Accordingly, Brick should ask that the rejection be
reconsidered and file a Notice of Appeal to safeguard his interest for a review of the
rejection by the Board of Patent Appeals and Interferences if the rejection is not
reconsidered. 37 C.F.R. § 1.116. (A) is wrong because there is no evidence that the
examiner made any review of the declaration. (C) is wrong because whether or not
Reference X provides an enabling disclosure for Brick’s invention is immaterial to the
question of obviousness. If there were to be a question of enabling disclosure for
Reference X, it would be with respect to the “Q” ball relied upon by the examiner, not
applicant’s “Y” ball. (D) is wrong because whether or not Reference X provides a written
description for Brick’s invention is immaterial to the question of obviousness raised by
the examiner. (E) is wrong because the issue is one of obviousness under 35 U.S.C. §
103, not identity under 35 U.S.C. § 102. Given that the examiner has rejected the claim
under 35 U.S.C. § 103 and not under § 102, the examiner has already conceded that the
“Q” and “Y” balls are not the same.

Petitioner argues that answer (C) is also correct. Petitioner contends that an argument
that Reference X does not provide an enabling disclosure for a new ball with the
unexpectedly higher bounce of the “Y” ball shows the public was not in possession of the
claimed Y ball invention.

Petitioner’s arguments have been fully considered but are not persuasive.
Contrary to petitioner’s statement that an argument that Reference X does not provide an
enabling disclosure for a new ball with the unexpectedly higher bounce of the “Y” ball
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shows the public was not in possession of the claimed Y ball invention, the fact pattern
indicates the application contains a single claim for the invention: a new bouncing ball
called “Y”. Notably absent from the claimed subject matter is the alleged higher bounce.
Although such secondary considerations as unexpected results are to be considered in
evaluating obviousness, they do not enter into the question of enablement, because they
are not part of the claimed subject matter. Therefore, such an argument would be
ineffective in overcoming the examiner’s rejection. Accordingly, model answer (B) is
correct and petitioner’s answer (C) is incorrect.

No error in grading has been shown. Petitioner’s request for credit on this
question is denied.

Afternoon question 22 reads as follows:

22. Patentee, lam Smarter, filed and prosecuted his own nonprovisional patent application
on November 29, 1999, and received a patent for his novel cellular phone on June 5,
2001. He was very eager to market his invention and spent the summer meeting with
potential licensees of his cellular phone patent. Throughout the summer of 2001, all of
the potential licensees expressed concern that the claim coverage that Smarter obtained in
his cellular phone patent was not broad enough to corner the market on this technology,
and therefore indicated to him that they feel it was not lucrative enough to meet their
financial aspirations. By the end of the summer, Smarter is discouraged. On September 5,
2001, Smarter consults with you to find out if there is anything he can do at this point to
improve his ability to market his invention. At your consultation with Smarter, you learn
the foregoing, and that in his original patent application, Smarter had a number of claims
that were subjected to a restriction requirement, but were nonelected and withdrawn from
further consideration. You also learn that Smarter has no currently pending application,
that the specification discloses Smart’s invention more broadly than he ever claimed, and
that the claims, in fact, are narrower than the supporting disclosure in the specification.
Which of the following will be the best recommendation in accordance with proper
USTPO practice and procedure?

(A) Smarter should immediately file a divisional application under 37 CFR 1.53(b)
including the nonelected claims that were subjected to a restriction requirement in the
nonprovisional application that issued as the patent.

(B) Smarter should file a reissue application under 35 U.S.C. § 251, including the
nonelected claims that were subjected to the restriction requirement in the nonprovisional
application that issued as the patent.

(C) Smarter should file a reissue application under 35 U.S.C. § 251, broadening the scope
of the claims of the issued patent, and then file a divisional reissue application presenting
only the nonelected claims that were subjected to a restriction requirement in the
nonprovisional application which issued as the patent.
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(D) Smarter should simultaneously file two separate reissue applications under 35 U.S.C.
§ 251, one including broadening amendments of the claims in the original patent, and one
including the nonelected claims that were subjected to a restriction requirement in the
nonprovisional application which issued as the patent.

(E) Smarter should file a reissue application under 35 U.S.C. § 251 on or before June 5,
2003, broadening the scope of the claims of the issued patent.

22. The model answer: (E) is the correct answer. 35 U.S.C. § 251. The reissue permits
Smarter to broaden the claimed subject. (A) is incorrect. There must be copendency
between the divisional application and the original application. 35 U.S.C. § 120. (B) This
is incorrect, as an applicant’s failure to timely file a divisional application while the
original application is still pending is not considered to be an error correctable via
reissue, In re Orita, 550 F.2d 1277, 1280, 193 USPQ 145, 148 (CCPA 1977). (C) This is
incorrect, as an applicant’s failure to timely file a divisional application while the original
application is still pending is not considered to be an error correctable via reissue, Id.,
including a divisional reissue application. MPEP § 1402. (D) This is incorrect, as an
applicant’s failure to timely file a divisional application while the original application is
still pending is not considered to be an error correctable via reissue, Id.

Petitioner argues that no answer is correct, and therefore credit should be granted for all
answers, including Petitioner’s answer (C). Petitioner contends that the model answer
(E) is incorrect because there is no indication that Smarter’s narrow claim coverage
resulted from error.

Petitioner’s arguments have been fully considered but are not persuasive.
Contrary to petitioner’s statement that the model answer (E) is incorrect because there is
no indication that Smarter’s narrow claim coverage resulted from error, the fact pattern
specifies that the specification discloses Smart’s invention more broadly than he ever
claimed, and that the claims, in fact, are narrower than the supporting disclosure in the
specification. This clearly implies that Smart failed to appreciate the breadth of subject
matter to which he was entitled to claim, which is an error (“or by reason of the patentee
claiming more or less then he had a right to claim in the patent”) of which 35 U.S.C. §
251 can be invoked for a reissue application. Failure to appreciate the full scope of the
invention was held to be an error correctable through reissue in In re Wilder, 736 F.2d
1516, 222 USPQ 369 (Fed. Cir. 1984). Accordingly, model answer (E) is correct and
petitioner’s answer (C) is incorrect.

No error in grading has been shown. Petitioner’s request for credit on this
question is denied.
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ORDER

For the reasons given above, no points have been added to petitioner's score on
the Examination. Therefore, petitioner's score is 68. This score is insufficient to pass
the Examination.

Upon consideration of the request for regrade to the Director of the USPTO, it is
ORDERED that the request for a passing grade on the Examination is denied.

This is a final agency action.

Robert J. Spar
Director, Office of Patent Legal Administration
Office of the Deputy Commissioner

for Patent Examination Policy



